KOLAR Document ID: 1487762

Notice: Fill out COMPLETELY and return to Conservation Division at the address below within 60 days from plugging date.

Kansas Corporation Commission Oil & Gas Conservation Division

WELL PLUGGING RECORD K.A.R. 82-3-117

Form CP-4
March 2009
Type or Print on this Form
Form must be Signed
All blanks must be Filled

OPERATOR: License #:			,	API No.	15	
Name:				Spot De	scription:	
Address 1:			.		Sec Tw	p S. R East West
Address 2:					Feet from	
City:	State:	Zip: +	.		Feet from	East / West Line of Section
Contact Person:				Footage	s Calculated from Neares	st Outside Section Corner:
Phone: ()					NE NW	SE SW
Type of Well: (Check one)		OG D&A Cathodi		,		
ENHR Permit #:	Gas Sto	rage Permit #:				
Is ACO-1 filed? Yes	No If not, is well	log attached? Yes				ved on: (Date)
Producing Formation(s): List A	II (If needed attach another	sheet)		by:		(KCC District Agent's Name)
Depth to	Top: Botto	m: T.D		Plugging	a Commenced.	
Depth to	•	m: T.D		00 0		
Depth to	Top: Botto	m:T.D			y	
Show depth and thickness of a	all water, oil and gas forma	ations.				
Oil, Gas or Water	Records		Casing Re	cord (Su	ırface, Conductor & Produc	tion)
Formation	Content	Casing	Size		Setting Depth	Pulled Out
Describe in detail the manner cement or other plugs were us		_				Is used in introducing it into the hole. If
Plugging Contractor License #	:		Name:			
Address 1:			Address 2:	:		
City:			;	State:		Zip:+
Phone: ()						
Name of Party Responsible for	r Plugging Fees:					
State of	County, _			, ss.		
	<i>3</i> , –			_	implayed of Onerster -	Operator on obeyed decaribed
	(Print Name)			E	imployee of Operator or	Operator on above-described well,

being first duly sworn on oath, says: That I have knowledge of the facts statements, and matters herein contained, and the log of the above-described well is as filed, and the same are true and correct, so help me God.

AP Copy

Quality Well Service, Inc.

PO Box 468
Pratt, KS 67124

R	EC	E	V	E	D
---	----	---	---	---	---

Invoice

OCT 23 2019

Date Invoice #

10/22/2019 C-2167

Bill To	
Lotus Operating Co. LLC 100 S. Main, STE. 420	
Wichita, KS 67202	

	P.O. No.	Terms	Lease Name
-			Sterling #1-31

				ening #1-51
Description		Qty	Rate	Amount
Common		150	15.50	2,325.00T
Gel		1,516	0.22	333.52T
Calcium		100	1.20	120.00T
Plug		1	950.00	950.00T
Handling		167	2.10	350.70T
.08 * sacks * miles		8,350	0.08	668.00T
Service Supervisor		1	150.00	150.00T
LMV		50	3.75	187.50T
Heavy Equipment Mileage		100	8.00	800.00T
Customer Discount			-1,471.18	-1,471.18
Discount Expires after 30 days from the date of the invoice			0.00	0.00
Sterling #1-31 Barber Co.				
GL# 9053				
GL# 9053 DESC. Alugging	cement			
	THE PERSONS	a bases lead house burd		
WELL # ster 31	Control of			
	OCT	2 9 2019		
Thank You for your business!		Subtotal		\$4,413.54
		Sales Ta	x (7.5%)	\$331.02
		Total		\$4,744.56

QUALITY WELL SERVICE, INC. Federal Tax I.D. # 481187368 Home Office 30060 N. Hwy 281, Pratt, KS 67124

Mailing Address P.O. Box 468

Office 620-727-3410 Fax 620-672-3663

Rich's Cell 620-727-3409 Brady's Cell 620-727-6964

Sec.	Twp. Range		County	State	On Location	Finish	
Date (0~18-19 3)	345 12W	lb	alou	\mathcal{K}_{λ}			
Lease STEVING W	/ell No. \-3 \	Location	on Hasa	hir Ki 11 to	150, F+ WOOD 1	za .	
Contractor (3w) 5			Owner		45		
Type Job PTA			To Quality Well Service, Inc. You are hereby requested to rent cementing equipment and furnish				
Hole Size 77/3 T.D.			cementer an	d helper to assist owr			
Csg. 51/2	Depth CT003 47	1 5	Charge L	ITUS OPERA	IING 6.4	C	
Tbg. Size	Depth		Street				
Tool	Depth		City		State		
Cement Left in Csg.	Shoe Joint	4744	The above wa	s done to satisfaction an	d supervision of owner	agent or contractor.	
Meas Line	Displace		Cement Amo	unt Ordered 150	<u>51 6040 4 :</u>	flet :	
EQUIPN	IENT		104 Fel	, 2 4 CC On	SIDE		
Pumptrk 😉 No:			Common [
Bulktrk 70 No.			Poz. Mix				
Bulktrk No.			Gel. 1511				
Pickup No.			Calcium ()O "		A-10 (5)	
JOB SERVICES	& REMARKS		Hulls				
Rat Hole			Salt				
Mouse Hole			Flowseal				
Centralizers			Kol-Seal				
Baskets		ing sementi selekti Selekti selekti Selekti selekti	Mud CLR 48				
D/V or Port Collar (3240			CFL-117 or (DD110 CAF 38			
120 10x	GEL 50×60/13	41/c	Sand			t til det en er formen skulptil til en skulptil skulptil skulptil skulptil skulptil skulptil skulptil skulptil	
學問編集(1.4.4)는 이 문학 나는 네 문 활성이 받는 경마 요리 나를 하는 것 같아.	SEL		Handling 167				
412 1 80mp 50 5x 60	45 47. (ELW/1)	sk (C	Mileage 50 / 0350				
0.85 1/20	ika da angan ing karalan da karalan pagan karalan da angan karanan da	en de la companya de La companya de la co	and the second second	FLOAT EQUIPME	NT - sacratal area and the rise a	and the second s	
5-10/10/17/390 50	5x 60A5 41 GEI		Guide Shoe				
MIX Pomo 50 & 60/40	4/ Cel w/ 1 sk	CC	Centralizer				
050 1170			Baskets				
32% Plug 45			AFU Inserts				
N/X (BOO 50 46 60/4	04/161		Float Shoe				
CILCRAT TO PIT			Latch Down				
			SERVICE	SUR I EA			
			LMJ -	50			
			Pumptrk Char	rge PTA	and the control of the second		
That 40)			Mileage (5	3		*	
PENE Coil C	(AN)				Tax		
TO009 TJ .T	Mly				Discount		
X Signature			*		Total Charge		

AP CORY

Quality Well Service, Inc.

PO Box 468 Pratt, KS 67124

RECEIVED

OCT 23 2019

Invoice

Date	Invoice #		
10/22/2019	2188		

Bill To	
Lotus Operating Co. LLC 100 S. Main, STE. 420 Wichita, KS 67202	

	P.O. No.	Terms	L	ease Name
			S	terling #1-31
Description		Qty	Rate	Amount
Rig Time Floor Rental Rip Casing Welding Water Truck Phone Calls Clerical Wiping Rubber Fresh Water Sterling #1-31 Barber Co. 10/16/19: Drove to location, rigged up, set bridge plug at 4745', bailed 2 sacks moved pumping unit with backhoe, dug cellar and pit, unpacked cas couldn't get slips to break out of casing head, tried to heat head, ran home. 10/17/19: Drove to location, heated up casing, casing got slips to break, cut su ground, loaded hole with water, ripped casing at 3410' and 3240', capulled casing up to 680', swedged in, drove home. 10/18/19: Drove to location, pumped 10 sacks gel, 50 sacks cement at 620', pupumped 50 sacks cement, pulled casing to 40', pumped 40 sacks cerdown floor and rig, emptied pit, back filled cellar and pit.	s cement on plug, sing head, set floor, out of oxygen, drove arface off 4' below the free at 3240', alled casing to 380',	1 1 2	190.00 350.00 400.00 75.00 90.00 20.00 25.00 30.00	800.00T 150.00T 540.00T 20.00T 25.00T
Thank You for your business!		Subtota	I	\$5,385.00
		Sales Ta	ax (7.5%)	\$403.88
		Total		\$5,788.88

A.P. Copy

Quality Wireline Service LLC

PO Box 468 Pratt, KS 67124

Invoice

Date	Invoice #		
10/22/2019	767		

Bill To	
Lotus Operating Co. LLC 100 S. Main, STE. 420 Wichita, KS 67202	

RECEIVED

OCT 24 20.3

	P.O. No.	Terms	L	ease Name
			S	terling #1-31
Description		Qty	Rate	Amount
5 1/2" Bridge Plug Setting Charge Dump Bailer Cement Run Truck Charge Customer Discount Discount expires after 30 days from the date of the invoice. Sterling #1-31 Barber Co. GL# 9053 DESC. 5-112" BP, bailer, Cement WELL# Stev31	CUA productive translational productive productive	CT 3 1 2019	900.00 1,500.00 1,000.00 1,500.00 -3,050.00 0.00	900.00 1,500.00 1,500.00 1,500.00 -3,050.00 0.00
Chank you for your business.		Subtotal		\$1,850.00
		Sales Ta	x (7.5%)	\$138.75
		Total		\$1,988.75